TATA CONSULTANCY SERVICES – NEW PATTERN ONLINE TEST FOR CAMPUS RECRUITMENT OF DIRECT TRAINEES

Institute of Engineering & Management – 2003 Campus recruitment

Section 1: VERBAL

a. Synonym: 10 questions

b. Antonym: 10 questions

c. Fill in the blanks with appropriate sentences from the provided list: 6 qstns.

d. Reading Comprehension: 6 questions.

Some words that appeared in the antonym/synonym section: 
Baleful, intrepid, evanescent, nascent, genuflect, assuage, stoic, hesitant, proclivity, conjecture, foray, stilted, slump, asperity, felicitous, bouillon, pillage.

Fill in the blanks consisted of one whole paragraph with some gaps. These gaps must be filled in with sentences given at the end of the questions. You will have to decide where each of these given sentences suites best within the paragraph.

Reading comprehension is similar to the old pattern of reading comprehension questions. Consult barrons GRE.

Section 2: QUANTITATIVE/LOGICAL REASONING (30 MIN)

a. Quantitative/logical reasoning: 32 questions

b. Paragraph Style questions: Total 6 questions with two paragraphs having 3 questions each.

Examples: 

1. If the 1st and 2nd letter of the word PROCASTINATION, 3rd and 4th letter, 5th and 6th letter etc are interchanged, what is the 8th letter of the resulting new word.

2. If each element of the array X(7,9) occupies 4 bytes, what will be the starting address of the element X(2,3) of this array if the starting address of the array X is 3000.

3. The temperature of Chennai follows the equation –t2/6+4t+12 where t is measured by the number of hours after midnight. Find out the percentage increase (or decrease) of temperature between 4pm and 9 pm of any day at Chennai.

4. Which curve best suites the following data: 

0.99 0.0000001

9.98 1.001

99.8 1.98

999.9 3.011

A set of curves equations given.

5. What best describes the curve given below: (a scaled graph of a curve given and some equations like y=exp(x*x), y=log(x) etc)

6. If $ stands for triple and # for negation, what is the value of #$#3-#5

7. Match the following:

a. Boy-man


Type of

b. Word-sentence

is superset of

c. Square-polygon

is not a type of

8. A transmitter sends files in buckets of size 10 kb. Rate at which buckets are filled is .00001 per millisecond. After the receiver receives a single packet, it sends out acknowledgement in 0.01 millisecond. What is the time taken to transmit N buckets of data?

Paragraph questions:


Two paragraphs, having figures. 1st question gives a VENN diagram of three sets of people, speaking German, French, English and their corresponding numbers given in the appropriate regions in VENN diagram. Now questions based on that.

Second figure consisted of a bar graph and a pie chart with figures and labels and you will have to answer questions based on those graphs. GRE barrons quantitative.

Section 3: CRITICAL REASONING (30 min)

Three paragraphs and with 4 questions each. Each paragraph gives u a logical problem EXACTLY similar to the OLD GRE logical reasoning problems, like problems on sitting arrangement, order, etc. Solve barrons GRE logic games.

THOSE WHO CLEAR APTITUDE PORTIONS OF THE TEST ARE ELIGIBLE FOR PSYCHOMETRY TEST.

Section 4: PSYCHOMETRY (30 MIN)

Exactly similar to old pattern and old questions. Total 150 questions. 

--------

The cutoff marks for aptitude test was: 55

For psychometry was: 90 to 130.

Total 88 selected for interview, 46 (out of 94) from Computer Engg, 10 form Electronics, 32 for IT department. 
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